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 EMBED Equation.3  
[image: image2.wmf])

(

x

ψ


 has a maximum value at the origin 
[image: image3.wmf].

so

when

0

)

(

.

0

0

0

0

0

0

k

π

x

π

x

k

x

ψ

x

=

=

=

=

Thus the width of this function 
[image: image4.wmf].

2

2

0

0

k

π

x

w

x

=

=


        If 
[image: image5.wmf].

,

2

0

L

w

L

π

k

x

=

=



[image: image6.png]B(k) A

1k,





[image: image7.png]<«———— maximum





c) If 
[image: image8.wmf].

L

2

w

L

k

x

0

=

=

p


        d) 
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        The uncertainty principle states that 
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